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Which physical quantities is derived quantities ©
(\) Mass (1) Length (O) Tane (D) Velocity
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Whirt is the mte of change in displacement with time called :
(A) Velweity (BYAccelemtion (C) Speed (D) Distance
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The path of projectile is ;
(A) Simple linear (B) Pamabolic (C) Ellipsoidal (D) Hyperbola
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A block is placed on atable. The reaction force will be :
(A) Down by the table (B) Down by the block
(C) Upstairs table (D) By upward block
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The value of the coeflicient of reversal for a perfectly elastic collision is
(A1 (o * (O (D)-1
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Einstein's mass-enerpy relationis ...
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Dot prodduct of two vectors is vector. (Yes™No)
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The slope of the velocity-time curve represents the displacement. (Yes'No)
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What is negative acceleration called.

Eafn TRy ?

What is null vector ?
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Vy’rilc number of Joule in | KWh.
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Define conservative and non-conservative force.
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Why is Newton's first law of motion called the law of inertia ?
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Write the parallelogram rule for the sum of the vectors.
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Write what is the difference between distance and displacement.
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Writc down uses of dimensional analysis. '
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What is errors discribe the different types of errors.
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For uniform accelerated motion derived the three equation of motion by mathématical method.
I+1+1=3
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For projectile motion, get the expression for the maximum height (H) of projectile, R& T.
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What do you understand by friction ? Explain marginal friction kinetic friction and spiral friction.
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What is called kinetic energy. Prove that the kinetic energy of a body is 3 mV?-. Derive this with

explaining the work energy theorem.
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Obtain it by writting the law of conservation of momentum and with the help of this law deduce third
law of motion ?
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